O+ AZ|AEMHAN S5 ot 1007HX oS

Tt 7|2

O RERE

Ol =2 doliet AtY

S MOFA 11:1 “O|A2tA
O] OtO|R= O L{Zt
O AESIn Lf o=
= O|ZENM =2
wap

OrEf 22 2:13; 2:19-21
71 LojLt 2hoj of 2I0t
O|t 19| o{{L|E Ol
al O|§E§ [[-||_|-

Azl M S0AH ARSI

AlE 69:8 LHZF L YXIS
A E "MERZE 22 L
ol L2l AtHS0A =
2| Ql0f [AALLL

XMoo N A
o o 504
on
z o
\l
w
(Oa]
M
10
o

I~ og
oF =
b
N
E
o
n

X2|A+=0] 2&2=

ot= =2lol& ErCf

e

AlH 2:1-2 O{R|St0] O]

=50| Zisin] W40l
HE g Wl
Qo| YS0| AAR LA
of %2|RHS0| & ol
sto] ot 20| 7|5
28 we XS N
02715,

OFEf 28 12:14 O|0f HE|AH
OIS0] LI7tM 22 hA
Stol o{EA At7|E0] 22
2 FUNt FostA Lt

OEf 22 26:3-4 o) %=

=0 sHAFE S g




A 118:22-23 U=Xt=
O] B2l =0| Z&0|Q|

HE=0| E[RALFL] O] A
2 FHM dotdl Aolg,

<2 =0 SE=C

OEH S-S 21:42 Ofl=EHAM
ASHA O|=ZA|E] A3 7}
4871550, A=AS0
HZl = HE 1 2§0[9
M3l =0| E QAL O|A2
THAM Aok Ao|R, 22
=0 SEEH, o 25

23 9oi=N0| gLy

mjo

g7 SO 7HAICH

Tatr| 3:1".E 3|7t F#
St= F7F YA Rl
o st & 43I
7t 7|5t AL AKX}
et 22l 27F ste[=Ct.
25T+E

sk 2:7-9

OFEl =S 21:12-16 O]
A StLEE S| GO
SO{7LAL G QFOf A A
b= AtES O WEL
AlH...

257+E

b= 1111/57t=
B 2:25-47 ; 19:45-47

AL7| Aol ofyl AHS S
H2 Al

O|ALOF 55:4-5.14|7F &X|
25l= | 7t

20|18, HE X =
DEE0| AR

- = O
of QIS

2@ M|OF 2:23

E20FM 9:23-26... 0] A&
=2 = feH F A&
HAM 7S SoAM &
TH ofL[2} o[RS FOf
ME R24 XH=0[L 2L

0| LIHE Bt o2
@Ol ATt

A7t2f 9:.9. B2l 4 0
A dStA =L 22122
OZRA|n FRE A&7
SHA|H AESHAL L E
EFAIE] LHH AH77| 2 O
2l =L E BN =L 2

OF7HE S 11:1-10..2E0|
LtH M7IE ols=EHE &
NRMM AH7|ECl 2 1
Qo Heoj A2HM
20l EfAIAE...

2573

: OfEf =& 21:1-5/
T7t58 19:28-38/
23S 12:14-15







